
 

EXCLUSIVE Pi PLUS RUNS
HGCER EFFICIENCY WITH MISSING MASS CUT 

Setting 5-1 , z = 0.9, +6.80GeV/c 

D2 Runs : 3923,3924,3925
H2 Runs : 3928,3929,3930

Setting 1-1 , z = 0.9, + 5.05 GeV/c

D2 Runs : 3413,3414,3416
H2 Runs : 3420,3421,3423

Setting 1-2 , z = 0.9, +5.06 GeV/c

D2 Runs : 3424,3425,3426
H2 Runs : 3430,3431,3432 
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                           D2 Runs 3923, 3924, 3925 : Setting 5-1 Pi+ and 6.8 GeV/c, pt = 0

ENTRIES =4817778
hTotal nEntries =6188
hPass nEntries =5180
SHMS hgcer efficiency: 83.7 %

     ENTRIES =4817778
     hTotal nEntries =57826
     hPass nEntries =44480
     SHMS hgcer efficiency: 76.9 %

Efficiency without Missmass Cut Efficiency with Missmass Cut

 (pgtrbeta > 0.8 && pgtrbeta<1.3 && pgtrdp < 20 && pgtrdp > -10 && paeronpesum>5 &&ctime-
9.7>-1 && ctime-9.7<1  && sqrt(misseng*misseng-missmom*missmom)> 1.85 && 
sqrt(misseng*misseng-missmom*missmom) <2.1)   [&& phgcernoesum >1.0]      

Missing Mass Distribution For D2 target



 

                           H2 Runs 3928, 3929, 3930 : Setting 5-1 Pi+ and 6.8 GeV/c, pt = 0

ENTRIES =2455147
hTotal nEntries =31142
hPass nEntries =24032
SHMS hgcer efficiency: 77.1 %

ENTRIES =2455147
hTotal nEntries =5902
hPass nEntries =5048
SHMS hgcer efficiency: 85.5303 %

Efficiency without Missmass Cut Efficiency with Missmass Cut

 (pgtrbeta > 0.8 && pgtrbeta<1.3 && pgtrdp < 20 && 
pgtrdp > -10 && paeronpesum>5 &&ctime-9.7>-1 && 
ctime-9.7<1  && sqrt(misseng*misseng-
missmom*missmom)> 0.8 && sqrt(misseng*misseng-
missmom*missmom) <1.1)   [&& phgcernoesum >3.0]  
    

ENTRIES =2455147
hTotal nEntries =5902
hPass nEntries =4978
SHMS hgcer efficiency: 84.3 %

Missing Mass Distribution For H2 target



 

                           H2 Runs 3420, 3421, 3423 : Setting 1-1 Pi+ and 5.05 GeV/c, pt = -0.06

 (pgtrbeta > 0.8 && pgtrbeta<1.3 && pgtrdp < 20 && pgtrdp > -10 && 
paeronpesum>5 &&ctime-10>-1 && ctime-10<1  && sqrt(misseng*misseng-
missmom*missmom)> 0.9 && sqrt(misseng*misseng-missmom*missmom) 
<1.01)   [&& phgcernpesum >3.0]      

P.hgcer.npeSum>1.0
ENTRIES = 2406634
hTotal nEntries = 37684
hPass nEntries =35111
SHMS hgcer efficiency: 93.2%

P.hgcer.npeSum>3.0
ENTRIES = 2406634
hTotal nEntries = 37684
hPass nEntries =34372
SHMS hgcer efficiency: 91.2%



 

                           H2 Runs 3424, 3425,3426 : Setting 1-2 Pi+ and 5.05 GeV/c, pt = -0.06

 (pgtrbeta > 0.8 && pgtrbeta<1.3 && pgtrdp < 20 && pgtrdp > -10 && 
paeronpesum>5 &&ctime-10>-1 && ctime-10<1  && sqrt(misseng*misseng-
missmom*missmom)> 0.8 && sqrt(misseng*misseng-missmom*missmom) <1.1) 
  [&& phgcernpesum >3.0]      

ENTRIES =2001099
hTotal nEntries =49956
hPass nEntries =45169
SHMS hgcer efficiency: 90.4 %



 

                           D2 Runs 3430, 3431, 3432 : Setting 1-2 Pi+ and 5.05 GeV/c, pt = -0.06

 (pgtrbeta > 0.8 && pgtrbeta<1.3 && pgtrdp < 20 && pgtrdp > -10 && 
paeronpesum>5 &&ctime-10>-1 && ctime-10<1  && sqrt(misseng*misseng-
missmom*missmom)> 1.8 && sqrt(misseng*misseng-missmom*missmom) <2.1) 
  [&& phgcernpesum >3.0]      

ENTRIES = 5892550
hTotal nEntries = 43429
hPass nEntries = 38638
SHMS hgcer efficiency: 88.9%
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